
A
ut

ot
es

t D
C

D
un

ga
nn

on
M

G
C
C

U
ls
te

rA
C

E
nn

is
ki
lle

n
C
ol

er
ai

ne
O

m
ag

h

La
rn

e

C
ol

er
ai

ne
A
ut

ot
es

t D
C

C
la

s
s

C
R
O

S
S
 

TO
TA

L

D
ro

pp
ed

 
S
co

re
s

D
ro

pp
ed

 
S
co

re
s

N
E
T

D
ro

pp
ed

 
S
co

re
s

DRIVER 1 2 3 4 5 6 7 8 9 10

Gary Campbell A1 10 10 9 29 29

Jack Gillis A2 9 9 10 28 28

Ian McCann A7 0 0 8 8 8

Jimmy Dougan A5 8 0 0 8 8

Crawford Ewing A3 7 0 0 7 7

Gordon Buckley B1 10 10 10 30 30

Brendan Mooney B3 9 9 0 18 18

Roger Gordon B2 8 0 9 17 17

Ben Colhoun C1 10 10 10 30 30

Derek Harrison D1 9 0 10 19 19

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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Gary Campbell A1 30 30 28 88 88 1

Gordon Buckley B1 28 29 29 86 86 2

Ben Colhoun C1 29 27 27 83 83 3

Jack Gillis A2 27 26 30 83 83 4

Brendan Mooney B3 25 28 0 53 53 5

Ian McCann A3 23 0 26 49 49 6

Roger Gordon B2 22 0 24 46 46 8

Derek Harrison D1 21 0 25 46 46 8

Jimmy Dougan A5 26 0 0 26 26 9

Crawford Ewing A3 23 0 0 23 23 10
$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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DRIVER 1 2 3 4 5 6 7 8 9 10

Michael Workman B1 10 0 10 20 20

Colin Hazelton D1 10 10 10 30 30

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.
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Colin Hazelton D1 29 30 29 88 88 1

Michael Workman B1 30 0 30 60 60 2

$ = Tie resolved on basis of "higher dropped score". £ = Tie resolved on "higher score first" basis.


